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حل المعادلة 
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حل المعادلة 

a) a = -9 
𝟏
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b) a = -12

c) a = 12

d)  غير ذلك

𝟗-  =:  هو  ÷ 𝟎. 𝟕𝟓

=  -𝟏𝟐



a) 120 Km
b) 240 Km

c) 60 Km

d)   غير ذلك

1.5 d =  180

=  1𝟖𝟎 ÷ 𝟏. 𝟓

= 120

حل المعادلة 

a) x = 12 
𝟐

𝟑

b) x =  18

c) x = 7.3

d)  غير ذلك
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a) شخصًا   80
b) شخصًا  43
c) شخصًا 80
d)     غير ذلك

63  =   6.50 𝐱 + 𝟏𝟕. 𝟓𝟎

- 17.50 - 17.50

45.5  =   6.50 𝐱

x =45.5  ÷ 6.50 = 7

حل المعادلة 

a) a =
𝟏𝟐

𝟓

b) a = 56

c) a = 64

d)   غير ذلك

:  هو 

a – 4   =   5 × 12

a – 4   =   60
+4 +4

a    =   64



a) 1.50 AED
b) 7.75 AED

c) 9.25 AED

d)   غير ذلك

15.50  =   26  - 7 𝐩

- 26 - 26

- 10.5  =   - 7 𝐩

- 10.5  ÷ - 7 =  𝐩

𝐩 = 𝟏. 𝟓𝟎 𝐀𝐄𝐃

المعادلة التي تمثل 
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𝒎
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b) 𝟑𝒎+ 𝟏 = 𝟕

c)
𝒎

𝟑
+ 𝟕 = 𝟏

d)     غير ذلك

:  هي 



المعادلة التي تمثل 

a)
𝒎

𝟒
− 𝟕 = −𝟏

b) 𝟒𝒎− 𝟕 = −𝟏

c)
𝒎

𝟒
+ 𝟕 = −𝟏

d)     غير ذلك

:  هي 

المعادلة التي تمثل 

a)
𝒎

𝟓
− 𝟑 = 𝟏𝟎

b) 𝟓𝒎− 𝟏𝟎 = 𝟑

c)
𝒎

𝟓
+ 𝟏𝟎 = 𝟑

d)     غير ذلك

:  هي 



a) 𝟒𝟎. 𝟎𝟓 𝒎
b) 𝟒𝟔. 𝟎𝟓 𝒎
c) 𝟗𝟐. 𝟏𝟎 𝒎
d)     غير ذلك

x + x + 0.89 = 92.99

2x+ 0.89 = 92.99

2x  = 92.1

x  = 46.05

حل المعادلة 

a) y =
𝟐

𝟓

b) y = 10

c) y =  20

d)  غير ذلك

:  هو 
8y-6y = 17 + 3

2y = 20

y = 20 ÷ 2 = 10



حل المعادلة 

a) g =  
𝟏

𝟐

b) g =  4

c) g =  7

d)   غير ذلك

– 9g:  هو  2 g  = 14

7g  = 14

2z + 9z   = 24 +31 
حل المعادلة 

a) z =  
𝟏

𝟓

b) z = -5

c) z =  5

d)  غير ذلك

:  هو 

11 z   = 55 

z   = 5 

g  = 14 ÷ 7 = 2



a) 18
b) 36

c) 54

d)   غير ذلك

3x - 18  = 2x

3x – 2x  = 18

x  = 18

حل المعادلة 

a) j = 1 
𝟐

𝟗

b) j = 13

c) j =   5

d)  غير ذلك

– j ):  هو  4 ) = 81 ÷ 9

( j – 4 ) =  9

j   =  9 + 4 = 13



حل المعادلة 

a) c = 45

b) مجموعة الحل هي جميع الأعداد
c) مجموعة الحل هي المجموعة الخالية ∅
d)   غير ذلك

– 32q -40:  هو  7q = 25q - 40

32q  – 7q  -25q = - 40 + 40

0  =  0

حل المعادلة 

a) c = 120

b) مجموعة الحل هي جميع الأعداد
c) مجموعة الحل هي المجموعة الخالية ∅
d)   غير ذلك

:  هو 

32 – 16x = 12 -20x +4x

– 16x + 20x – 4x = 12 - 32

0 = - 20



a) 10 AED
b) 5 AED

c) 12 AED

d)   غير ذلك

10 x + 2 ( x -1.50 ) = 57.00

10 x + 2x - 3 = 57.00

10 x + 2x  = 57.00 + 3

12x   =  60

x   =  60 ÷ 12 = 5
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